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LEVEL 1WORKSHEET ANSWER KEY
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Penguin        Readers

A CHRISTMAS CAROL

1 d	 2 f 	 3 a	 4 c
5 b	 6 g	 7 h	 8 e 

1 poor
2 warm
3 dead
4 sad
5 little
6 old

1 dead
2 cold
3 sad
4 old
5 rich
6 little

Reader’s own answers.

 
Reader’s own answers.
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Marley’s ghost

comes first

wears a chain

does not take Scrooge out of  the house

The Ghost of  Christmas Past

has got white hair

takes Scrooge to school

shows Scrooge a beautiful woman

The Ghost of  Christmas Present

has got flowers on his head

gives people happiness

takes Scrooge to Bob and Fred’s houses

The Ghost of  Christmas Future

does not speak

does not show his face

is very tall


